Division par Puissances de Dix (C)

Trouvez chaque quotient.

41 +-1000= 38 +-10=

95 +1000= 23+-1000=
56 +~1000 = 100 +-1000 =
20 +10 = 41 +1000=
74 - 1000 = 90 - 100 =
21 +10= 68 ~ 100 =
74 - 1000 = 17 +-1000 =
97 +10 = 78 +-1000 =
78 - 100 = 50 +10=

51 +1000= 9+10=
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Division par Puissances de Dix (C) Solutions

Trouvez chaque quotient.

41+1000=0,041 38+10=3,8

95 +1000=0,095 23 +1000=0,023
56 ~1000=0,056 100+-1000=0,1
20+-10=2 41-+1000=0,041
74 +1000=0,074 90 +-100=0,9
21+-10=2,1 68 +~ 100 = 0,68
74 +-1000=0,074 17+1000=0,017
97 ~-10=9,7 78 +1000=0,078
78 +~100=0,78 50+10=5
51-+1000=0,051 9+10=0,9
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